
Marc de raisin
10 000 T

Lies de vin 
10 000 Hl

tanins 
(anthocyanes)
polyphénols

500 TUC

marc épuisé
6 000 T

pépins
1 500 T

pulpes
500 T

alcool
7 000 Hl

effluents
5 000 m3

SCHÉMA DE LA BIOÉCONOMIE CIRCULAIRE DE LA CAVALE

tartrates 
de chaux

50 T

Industries A.A. + 
pharmaceutiues

engrais 
organiiue

2 000 T

compost
onze300

2 500 T

alcool
biocarburaton

6500 Hl
Adhérents

alcool
de bouche

500 Hl

Biogaz 
(STEP)Acide tartriiue

Plateforme de 
compostageGazéifcateur 

Valorisaton du 
biogaz
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